Applied Econometrics – Lab 3

The aim of this exercise is to replicate the results of Stock and Watson, Chapter 8. This exercise uses the Panel Data set: fatality.xls

The data are for the “lower 48” U.S. states (excluding Alaska and Hawaii), annually for 1982 through 1988.  Variables are detailed in the table below.

Data Series:

Series
Descriptions

state     
     State ID (FIPS) Code

year      
     Year

spircons  
     Spirits Consumption

unrate    
     Unemployment Rate

perinc    
     Per Capita Personal Income

emppop    
     Employment/Population Ratio

beertax   
     Tax on Case of Beer

sobapt    
     % Southern Baptist

mormon    
     % Mormon

mlda      
    Minimum Legal Drinking Age

dry       
       % Residing in Dry Counties

yngdrv    
      % of Drivers Aged 15-24

vmiles    
      Ave. Mile per Driver

breath    
      Prelim. Breath Test Law

jaild     
      Mandatory Jail Sentence

comserd   
      Mandatory Community Service

allmort   
      # of Vehicle Fatalities (#VF)

mrall     
      Vehicle Fatality Rate (VFR)

allnite   
      # of Night-time VF (#NVF)

mralln    
      Night-time VFR (NFVR)

allsvn    
      # of Single VF (#SVN)

a1517     
      #VF, 15-17 year olds

mra1517   
      VFR, 15-17 year olds

a1517n    
      #NVF, 15-17 year olds

mra1517n  
      NVFR, 15-17 year olds

a1820     
      #VF, 18-20 year olds

a1820n    
      #NVF, 18-20 year olds

mra1820   
      VFR, 18-20 year olds

mra1820n  
      NVFR, 18-20 year olds

a2124     
      #VF, 21-24 year olds

mra2124   
      VFR, 21-24 year olds

a2124n    
      #NVF, 21-24 year olds

mra2124n  
      NVFR, 21-24 year olds

aidall    
      # of alcohol-involved VF

mraidall  
      Alcohol-Involved VFR

pop       
      Population

pop1517   
      Population, 15-17 year olds

pop1820   
      Population, 18-20 year olds

pop2124   
      Population, 21-24 year olds

miles     
      total vehicle miles (millions

unus      
      U.S. unemployment rate

epopus    
      U.S. Emp/Pop Ratio

gspch     
      GSP Rate of Change

a) Stock and Watson use Vehicle Fatality rate per 10000 of population. You will need to use mrall to create this variable.(i.e. mrall*10000)

b) The first task is to replicate Figures 8.1, by performing the following regressions:

FR1982= a +b BeerTax1982

FR1988= a+ b BeerTax1988

c) Now perform the difference regression:

FR1988-FR1982 = a + b (BeerTax1988-BeerTax1982)

This should give you the results in Figure 8.2

d) Now you should use the Panel Data module in Pcgive (or functions in Stata if preferred). You should create the model as shown in the figure below.


[image: image1.wmf]
State is the Group and Year (rather obviously) is the year.

You should run regressions, with

1) just a constant (regression 1 in Table 8.1)

2) State (Group) effects only (regression 2 in Table 8.1)

3) State and Time effects (regression 3 in Table 8.1)

Examine and comment on ALL your results.

You may now try and replicate SandW’s results with additional explanatory variables or explore the effect of variables of your own choosing. Do not expect to necessarily exactly replicate SandW’s results – they have a habit of adjusting variables without explanation!
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a)  Stack and Watson use Vehicle Fatality rate per 10000 of population. You will need to use mrall to
create this variable.
b) The fist task is to replicate Figures 8.1, by performing the following regressions

FR1982= a+b BeerTax1932
FR1988= a+ b BeerTax1933

¢) Now perform the difference regression
FR1988-FR1982=a+ b (BeerTax1983-BeerTax1982)
“This should give you the results in Figure 8.2

d) Now you should use the Panel Data module in Pegive (or functions in Stafa if preferred). You should
create the model as shown in the figure below,
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